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1. Show that the graphs of f(z) = e™® and f(z) = z + 2 intersect somewhere in the \
,{/ t@ interval [—2,2]. ‘ : ' - ‘
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P 2 Below is a graph of y = ;ﬁv_x“_l Find all asymptotes, sketch them on the graph, and

+ (b i o label the behavior near the asymptotes using the appropriate limit notation.
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6. Find —=zlogy(z).
J(]O Ry d:r: g() ’quc) = X ﬁ[?c) = /Oﬂzfx/
g///zc} - =
Xl 2

f(fvc) =

009/t + §(x) F 15 )

oy -
X eyl /on('x) ¥

t /bjz/)c)




Exam 3, 14 Apr 2023

B R A . %3
/HOQ 7 Elndgcli)rxgo(w—F?))e - /?&WN%&JS‘ _ fx[f):o f%

o K3 L / /

i

: ¥ [ O 8 Given’ the curve described by the equation z3 — 3zy = y*+ 1, find g
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S lFir,\;d.arc‘c_()s(cos(—w/zi));‘ = 77; .
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3 10‘..'F'1‘r“1d tén(-arctan(—Z)). = —9




